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QUESTION 1

Consider the following program code: 

print(1 ); 

BEGIN { print(2 ); } 

END { print(3 ); } 

BEGIN { print(4 ); } 

END 

{ 

package MyPackage; 

print(5 ); 

} 

What is the result of executing this program code? 

A. The code will output the following: 1 2 3 4 5 

B. The code will output the following: 2 4 1 5 3 

C. The code will output the following: 2 1 3 4 5 

D. The code will output the following: 2 4 1 3 

Correct Answer: B 

 

QUESTION 2

Consider the following assignments: $x = 9 $y = 7 $z = 5 Given these assignments, which one of the following
expressions evaluates as true? 

A. ($x - $y) != ($y - $z); 

B. ($z * 2) $y; 

Correct Answer: C 

 

QUESTION 3

Consider the following program code: 

$x = 150; 
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$y = "250"; 

if (($x + 100) == $y) { print("1 "); } 

if ("250" == $y) { print("2 "); } 

if ("250" eq $y) { print("3 "); } 

if ($x lt $y) { print("4 "); } 

if ($x ge $y) { print("5 "); } 

What is the result of executing this program code? 

A. The code will output the following: 1 2 3 4 

B. The code will output the following: 1 3 4 

C. The code will output the following: 1 3 5 

D. The code will output the following: 1 2 3 4 5 

Correct Answer: A 

 

QUESTION 4

Consider the following code: 

@cities = qw( Pittsburgh Atlanta Nashville Boston ); $city = join (":", @cities); 

What is the value of $city after the code is executed? 

A. PittsburghAtlantaNashvilleBoston 

B. Pittsburgh, Atlanta, Nashville, Boston 

C. Pittsburgh:Atlanta:Nashville:Boston 

D. Pittsburgh Atlanta Nashville Boston 

Correct Answer: C 

 

QUESTION 5

Which one of the following choices lists valid assertions that represent places within a string? 

A. \b, \B, \x, \X 

B. \A, \B, \Z, \G 

C. \z, \Z, \g, \y D. \Y, \X, \Z, \A 

Correct Answer: B 
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